VR W 2 K5 202 1R HE 7R S A B B ST A L SR B 48 B

RBUE R EHE U F T 9] 4 W55 =705 Vit
(001) 22 % 2 5t (020101)BiG &3¢ 2 (O)&F APt 550k B 5222 xkkkxikxkk] GAT 77.60 fij -
(001) &5 2 bt (020101) BUIR & I (OL)#2E AP 5 5Lk Ui 3505+ *rrrkrg5] 8 87.20 fisi -+
(001) 22 7% 2 5t (020101)BiG &3¢ 2 ()& APt 550k R 51Q5*+**xkkxrx(0)] 66 82.54 fij -
(001) 22 7% 2 5t (020101)BiG &3¢ 2 (02)Tip&TtiatT 5% Wi £ 5QQ2*+*krkkrrk (032K 83.60 fij -
(001) 22 7% 2 5t (020101)BiG &3¢ 2 (02)Tip&TtiatT 5% Wi B/hE 51Q8*r¥*xkkxrk) 524 81.00 fi
(001) 22 7% 2 5t (020101)BiG &3¢ 2 (02)Tip&tiatrT 5% Wi 2325 5101 *r*kriknrk] 277 89.74 fij -
(001) &5 2 bt (020101) BB & i (03)A B Al 5 )k Je TRIRAE 370Qr**xskxixx D67 ] 87.33 fisi -+
(001) &5 2 bt (020103) & 5 (OL)i BRAR 4 ik o X3CE 1424 *xxxxixxx 7528 81.93 fisi -+
(001) 22 7% 2 5t (020104) 114 J5 &5 2 (01) 7 Wi 8% Bl 5 R PFR3L 41 27 *¥rxxxxxx 5589 79.73 fij -
(001) 22 % 2 5t (020104) 114 J5 &5 2 (01) 7 Wi 8% Bl 5 R Vil 511 ] *rwkrinrk 8] | 80.27 fij -
(001) 2 55 2 5% (020104) 7 J5 & 5 (01) M 257 B8 5 BUR FEARM 1422 %kkxknkicxx 39273 73.60 fisi -+
(001) 22 % 2 5t (020104) 114 J5 &5 2 (01) 7 Wi 8% Bl 5 R K AN 4206*rr*xrrkxx(0023 86.73 fij -
(001) 22 % 2 5t (020104) 114 J5 &5 2 (01) 7 Wi 8% Bl 5 R R % 3623*rrxxrrkar()0)29 76.73 fij -
(001) &5 2 bt (020104) 1t J5 & i (O1)ZE M A HF L 5 EUR X5 5101 ***rxrkerr()5]8 86.27 fisi -+
(001) 2 55 2 5% (020104) 7 J5 & 5 (01) = M 257 BB 5 BUR FHEE 3701 *rrixinknx D5 6 79.00 fisi -+
(001) &5 2 bt (020104) 1t J5 & i (02)F5 Bh &5t 2= SO N AT A 5201 ***krknrk (0426 85.80 fisi -+
(001) &5 2 bt (020104) 1t J5 & i (02)F5 Bh &5t 2= SO N VAR ip ) 510 **rkrinxx()022 86.47 fisi -+
(001) 22 % 2 5t (020104) 11t J5 &5 2 (03)F =\ H R 54k # 8 2SR 3505**kHkrrkxk8549 84.00 fij -
(001) 2 55 2 5% (020104) 7 J5 & 5 (03)7 L H A 5 Al 3 e 3 3302**rkxiniir()()]8 88.00 fisi -+
(001) 2 55 2 5% (020104) 7 J5 & 5 (03)7 L H A 5 Al 3 e FEAl 513Q*r*tkikixx 7] ] 74.27 fisi -+
(001) &5 2 bt (020104) 1t J5 & i (03)7 L H A 5 il 3 e VA3 3503 ***rrrrinr] 662 76.34 fisi -+
(001) 22 7% 2 5t (020104) 114 J5 &5 2 (04) BH 5 SR 2 Z= 1 511G*+*xxrkxrk004 ] 78.27 fij -
(001) 22 7% 2 5t (020104) 114 J5 &5 2 (04) BH 5 SR 2 RS 513Q*+*xxrkxrk(015 82.13 fij -
(001) 22 7% 2 5t (020104) 114 J5 &5 2 (04) BH 5 SR 2 Xl &% 1302%+*xkkxxkk) 307 84.60 fij -
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RBUE R EHE U F T 9] 4 W55 =705 Vit
(001) 22 % 2 5t (020104) 1t J5 &5 2 (06) LI 22 5 22 54T AT Y& Q4B 2*xrxxxkx A5 E5 90.00 | Ef#A4:
(001) 22 7% 2 5t (020104) 114 J5 &5 2 (0B)IT N5 SEER 220k ERARRE 1521 ¥rkxrnxik()327 83.68 fij -
(001) 22 7% 2 5t (020104) 114 J5 &5 2 (0B)IT N5 SEER 220k T A B 5101 ¥rx*xkkxsk(262 92.86 fij -
(001) 22 7% 2 5t (020104) 114 J5 &5 2 (0B)IT N5 SEER 220k BRERIE VWS eieiiii LY N | 87.07 fij -
(001) 455 24 B¢ (020104) P8 75 & 5% (06)1T N 5 LI Z= TR 41 ] 2xF*xxxxix* 55D 84.67 fisi -+
(001) 22 7% 2 5t (020105) tH Ft £t % (04) [ fr s A TiT 3 5 #2955 £+ 3408*xrxxxrixx 702X 86.07 fi
(001) 4 5F 2B (0201Z2) K JE &%+ (02) &3t K e B8 5 USRI 7T A 511 3*#xsxinnx 3607 85.00 fisi +-
(001) 455 24 B¢ (020201) H R & ¥F (01)H R&FFis Tt 5t RABIBR B11G****xkxxk28() 82.66 fisi -+
(001) 22 7% 2 5t (020201) [H &5 2% (02) 7= ML 5 R HL -brons 5QQ2*+**xkkxrk3389 86.33 fij -
(001) 455 245 (020202) [X 3k 48 55 2 (02)I T 55 X I B TF R A 5 Hin 34Q5***xkerinx] 023 80.60 fisi -+
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RBUE R EHE U F T 9] 4 W55 =705 Vit
(002) M BUR 45 e (020203) M F 2 (01) A B it 5 LR TR R 4] 1 4rxxxrikxxx G708 80.80 fill 1
(002) W BUR 55 27 B (020203) M4 EL 2 (01) W Bt 5 HUK ER 211 Q¥x¥rkkkixk22] 84.93 fifi+
(002) 4 B A 55 2 bt (020203) I H 2 (O1) A B HE i 5 UK ok 5227 ¥kxxxkkxkk G020 81.32 fij -
(002) 0 B A 55 2 5t (020203) 7 F 2 (01) W B HE 16 5 R B R HE 3424 ¥ xrixrinxr (0478 81.67 fij -
(002) 1 LBt 45 2B (020203) M (01) A B FE 18 S 5 HOE 5131 *rkrsrixix (0042 79.52 fifi -
(002) 0 B A 55 2 5t (020203) 7 F 2% (02) X $5 22 5% 5 1b 7 W i ELEEE 5132 %kxkxkxkk()526 80.46 fij -
(002) 0 B A 55 2 5t (020203) 7 F 2% (02) X $5 22 5% 5 1b 7 o MR 510G +**xkkxkk] 521 83.27 fij -
(002) 0 B A 55 2 5t (020203) 7 F 2% (02) X $5 22 5% 5 1b 7 o =/ 41 28*xrrxxinxk5()] ] 80.67 fij -
(002) 0 B A 55 2 5t (020203) 7 F 2% (02) X $5 22 5% 5 1b 7 o TRpER 1304 x+*xrknxik] 959 82.60 fij -
(002) 0 B A 55 2 5t (020203) W F 2 (02) X $5 22 5% 5 1b 7 W N 51Q3*rxxxkkxrk 006X 80.62 fij -
(002)F B 55 2 bt (020203) B %= (02)[X Ik 28 % 5 Hb 77 W R B peds 513Q*k¥krikark 424 85.00 fifi
(002) 4 B 55 2% bt (020203) B~ (03) 0 B3 i 5 il BE B 7T TR 5111 xekwnkrx 0045 80.07 i+
(002) 4 B 55 2% bt (020203) B~ (04) A LA T 5 U PR 5 Wkl ik 522 2*xkxikkixx()025 87.36 fifi+
(002) 4 BUF 45 2 Bt (020203) B~ (04) A2 5 5 U A5 BRAR 7L kg BAQB*rHxrwRxH(023 81.36 fifi+
(002) 4 BUF 45 2 Bt (020203) 4 B~ (05) A 45 B i H 7 3 X ER 51Q7*r*rkarixx598(0) 84.80 fifi+
(002) 4 BUF 45 2 Bt (020203) 4 B~ (05) A 45 B i H 7 3 e 320 *rririaiix()823 87.64 fifi+
(002) 4 B A 55 2 b (0202Z6) ik % (L) B it HBUR TR 511 3krktikinx30] 78.80 fisi+
(002) 4 B A 55 2 b (0202Z6) ik % (O3Bl & P 5 51 5% B AE 510 **rrkrkerr58D] 83.13 fisi+
(002) 4 B A 55 2 b (0202Z6) ik % (O3Bl & P 5 51 5% X 1306**r*xrerk] 300 82.34 fisi -+
(002) 4 B A 55 2 b (0202Z6) ik % (O3Bl & P 5 51 5% INEL 2308 *rxrkxrk())26 77.33 fisi+
(002) 4 B A 55 2 bt (0202Z6)Fi i 2 (O5)H i S5 il & K] RRFHCE 522G+ *xrkrkirx (002X 80.94 fij -
(002) 4 B A 55 2 bt (0202z6)Fi Uk =¥ (O5) BRI 5B 25Xl HER 513Q**rrkrrrr5 09X 86.66 fisi -+
(002) 4 B A 55 2 bt (0202Z6)Fi i 2 (O5)H I S5l & K] yanip= 410G**+*xrkxxx 3564 82.86 fij -
(002) 4 BUF 45 2 Bt (0202z6)FiHi = (O5) BRI 5 Rk & Xl AR ABQ7**rixxir5AG 84.87 fifi+
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(002) 4 B A 55 2 b (0202Z6)FiUk = (O5) BRI 5B &Kl HAEE 5QQ1 *r¥tikixx4 27 78.53 fisi -+
(002) 4 BUF 45 2 Bt (0202z6)FiHi = (O5) BRI 5 Rk & Xl B 511 ] *xstkirixx5365 74.93 fifi+
(002) 4 B A 55 2 bt (025300)Fi %% (L) B P 55 5% Az R 5101 ***rkrkerk()043 89.27 fisi -+
(002) 4 B A 55 2 bt (025300)Fi %% (L) B P 5 51 5% KNS 510 **rrkrrerk092 X 86.07 fisi -+
(002) 4 B A 55 2 bt (025300)Fi %% (L) B P 55 5% TEYLTN 1404**rrxrkxrk()4 26 76.12 fisi -+
(002) 4 B A 55 2 bt (025300)Fi %% (L) B P 55 5% Pl ABQQr**rkekkx*5 364 85.02 fisi -+
(002) 4 B A 55 2 bt (025300)Fi %% (L) B P 55 5% O 522 **rkrinikG3D6 74.27 fisi -+
(002) 4 B A 55 2 bt (025300)Fi %% (L) B P 55 5% AR 3his 511 G*+*rkarixx010 88.80 fisi+
(002) 4 B A 55 2 bt (025300)Fi %% (L) B P 55 5% T 513@*r*tiirinx8] 49 80.93 fisi+
(002) 4 B A 55 2 bt (025300)Fi %% (L) B P 55 5% g 5QQ***r*rkxrx0424 85.93 fisi -+
(002) 04 BUA. 55 2 bt (025300) i 5% (L) B P 55 5% 3 2N 511 5*rktkiriax5607 87.10 fisi -+
(002) 4 B A 55 2 bt (025300)Fi %% (L) B P 55 5% oM 5115**rrkrkerr())38 88.38 fisi+
(002) 4 B A 55 2 b (025300)Fi %% (L) B P 55 5% % 5325 *kikrnrk3603 82.94 fisi -+
(002) 4 B A 55 2 b (025300)Fi %% (L) B P 55 5% S 4101 rxrkxrkxx 45D A 85.47 fisi -+
(002) 4 BUF 45 2 Bt (025300)#i 5% (C2)HPrFil 5 EARBLSER | £4& 3B 1] *wrwrarnx()3]] 87.42 fji+
(002) 4 BUF 45 2 Bt (025300)#i 5% (O2)HprFil 5 EAFBSEHR | Bz 3BQ7**rwrrxrx ()25 82.74 fifi+
(002) 4 B A 55 2 b (025300)Fi %% (02)H Frfilt 55 E Ar B S EH | TEH 1504 *rkxsnkions] 527 73.33 fisi -+
(002) 4 BUF 45 2 Bt (025300)#i 5% (03) R 5 Rl & Xl XA 1427 *rkxknkixx 6329 76.00 fifi+
(002) 4 B A 55 2 b (025300) % 5% (03)BE I+ 5B &Kl R 2106 **rxrrxk302X 82.16 fisi -+
(002) 4 B A 55 2 b (025300) %1 5% (03)BH I+ 5B i &Kl BT ABQQ**+*rrxrkxk3()37 86.70 fisi -+
(002) 4 B A 55 2 bt (025300) %1 5% (03) it S E X PR iE 1302**rkerixrx()024 85.73 fisi -+
(002) A B .55 2 bt (025300) %1 5% (03)H A 5 i & %I BHE 2301 *r¥kriark374 ] 79.02 fifi
(002) 4 B A 55 2 bt (025300) % 5% (03) it S E X ou g mi] 5137 *k¥krkark()98Q 86.20 fij -
(002) 4 BUF 45 2 Bt (025300)#i 5% (03) R 5 Rl & Xl Thiabi 53(Q3*r*riikixx92g 91.07 fifi+
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(002) 4 B A 55 2 b (025600) % 7= Al (0O) AN X 3Bt 95 77 171 HiY 231 Q¥rxxxkkxrk (0324 89.70 fij -
(002) 04 BUA. 55 2 bt (025600) % 1= ¥ Al (00) AN X 43 Bt 58 J7 111 i ¥R U 3205+ **rrxrker()()13 85.07 fisi -+
(002) 4 B A 55 2 bt (025600) % 7= Al (0O) AN X 3 Bt 95 77 171 JE B 51Q3*rxkrinkk] 84X 80.14 fij -
(002) 4 B A 55 2 bt (025600) % 1= ¥ Al (00) AN X 43 Bt 58 J7 111 B 5105 **rkrkerk (0065 82.26 fisi -+
(002) 4 B A 55 2 bt (025600) % 1= ¥ Al (00) AN X 43 Bt 58 7 [F1] O ykAT 11Q2%*rkerixrx 0824 86.27 fisi -+
(002) 4 B A 55 2 bt (025600) % 7= Al (0O) AN X 3 Wt 9 77 171 g%i/d 1309*+*xrkxxrx(027 78.80 fij -
(002) 4 B 55 2% bt (025600) % /™ 1A (00) AN X 43 Bt 58 7 [F1] Fik A1 Q7**rixininrGEAG 85.60 fifi+
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(003) & 4t (020204) i “# (01) B2 MARAT WK 23 *rxwkiokink] D24 82.60 fifi+
(003) & 4t (020204) < fih“# (01) B2 MARAT AR 5227 *x¥xkikixx()023 79.13 fifi+
(003) & 4t (020204) < fih“# (01) B2 MARAT [R50 522 *xktiikixx7 22 82.70 fifi+
(003) 4= Fil 2 ¢ (020204) 4 Fili 2 (O1) T m4RAT FE 5 6101 *r**rkkxrk (02D 83.27 fij -
(003) & 4t (020204) < fih“# (01) B2 MARAT opis 3623 xkkkiniik()()22 87.87 fifi+
(003) & 4t (020204) < fih“# (01) Bt MARAT BRI 5224#x¥xrwxkxx()705 82.27 fji+
(003) &=l 2 B (020204) i “# (01) L% MARAT B 6123 *xxwxkrkx 002X 76.07 fifi -
(003) 4= Filt 2 ¢ (020204) 4 Fili 2 (02)iE 775 % Z=fk 511 Q*k*krkkark 3893 78.37 fij -
(003) & Fil % % (020204) 4 il 2% (02)IEF 5 % TREEIK 5224 *xkxkkkixx 4428 78.50 fifi+
(003) 4= Fil 2 ¢ (020204) 4 Fili 2 (02)iE 7 F5 % RRRE 2101 ¥rxxxrkxxk(021 0 80.67 fij -
(003) 4= Fil 2 ¢ (020204) 4 Fili 2 (02)iE 775 % REH 5105 *+**rkkrrx (0568 88.50 fij -
(003) 4= Fil 2 ¢ (020204) 4 Fili 2 (02)iE 775 % R G205+ r**rwkrkk 4899 84.20 fij -
(003) 4 fit 27 5% (020204) & Fili 2 (02)ilEF5#% %t X PR 8 5103 *rkrinrx(5] | 87.03 fisi -+
(003) 4= Fil 2 ¢ (020204) 4 Fili 2 (02)iE 775 % BTN 341 1 ¥rrknrinrk50 4 84.83 fij -
(003) 4= Fil 2 ¢ (020204) 4 Fili2# (02)iE 775 % R 1101 ¥+*rrkeric 0824 82.57 fij -
(003) 4= Fil 2 ¢ (020204) 4 Fili2# (02)iE 775 % 534 G127 *r¥kriknrk] 368 86.47 fij -
(003) 4 fit 27 5% (020204) & Fili 2 (02)iEF5#% %t IS BL27**rrkrkxkk )7 66 83.40 fisi -+
(003) 4= Fil 2 ¢ (020204) 4 Fili2# (02)iE 775 % (iR E3 340 Frrrerrinx 359X 76.40 fij -
(003) 4 Fi 2% (020204) 4> fili 2% (03) 2 ) 4 fil ZefEfs 513(*r*tikkinx7] 29 80.60 fifi+
(003) 4 Fi 2% (020204) 4> fili 2% (03) 2 ) 4 fil 3L 322 wkikinknx 741 ] 82.70 fifi+
(003) 4 Fil 2 5% (020204) 4> fili 2% (03) 2 ) 4 fil th 2101 *xxaikionk] 52 85.03 fifi+
(003) 4 Fil 2 5% (020204) 4> fili 2% (03) 2 ) 4 fil 2P 5101 *r¥tkirixx (0526 83.70 fifi+
(003) 4 Fil 2 5% (020204) 4> fili 2% (03) 2 ) 4 fil JEERK 511 3krkkiikionx] 42 92.23 fifi+
(003) 4 Fil 2 5% (020204) 4> fili 2% (03) 2 ) 4 fil g 513Q*r*kkiriax(0] X 75.96 fisi+
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(003) 4= Fil 2 ¢ (020204) 4 Fili 2 (04) [E b4 il Jii A 320 *xrrkrriax (052X 82.63 fij -
(003) 4 Fil 2 5% (020204) 4 il 2% (04) [ = 4 i Bk 5QQ1 *r*rkirixx()028 93.33 fisi+
(003) 4= Fil 2 ¢ (020204) 4 Fili 2 (04) [E] b4 il ji 78 37Q7*¥rxrxxrkxx (0546 80.43 fij -
(003) 4 Fil 2 5% (020204) 4> fili 2% (05)I4 & & 3 VasS: 532 *rktikixx()022 80.03 fisi -+
(003) & 4t (020204) < fih“# (0B)1T A< fil B 41Q3F*rwrrarnx] 56 84.44 fifi+
(003) & 4t (020204) < fih“# (0B)1T A< fil BER 3708**rixkniix] 026 85.82 fji+
(003) & 4t (020204) < fih“# (06)1T A< fil B /It 5221 xkxwrin] GA6 89.70 fifi+
(003) &=l 2 B (020204) < fih“# (06)47 Hy4: il Ji:k43-2 3309r*rwrwreix] 024 87.60 fifi -
(003) 4= Filt 2 ¢ (0202Z2) %= fih T % (O1) <k LIS 5 B kG 341 6*xrrxrrxx502] 88.46 JEREEE
(003) 4= Fil 2 ¢ (0202Z2) %= fih T % (01) &= % 7= e Ay #HHRE 3205*rrkkrkkrr4AAT 83.07 fij -
(003) 4= Fil 2 ¢ (0202Z2) %= fih T % (01) &= % 7= e Ay BEE 3202*krkkrika* 529D 82.16 fij -
(003) 4= Fil 2 ¢ (0202Z2) %= fih T % (01) &= % 7= e Ay ZEMIC 511 3*r¥krikark())22 85.30 fij -
(003) 4= Fil 2 ¢ (0202Z2) %= fih T % (01) &= % 7= e Ay B 5101 *r**rkkark()9] 2 67.92 fij -
(003) 4= Fil 2 ¢ (0202Z2) 4= fih T2 (01) &= % 7= e Ay XIEE 37Q7*rrkxrrkxx 620 86.93 fij -
(003) &2 (0202Z2) 4t % (O1) &Rl 8 7= 52 g 3203%Hrwrrkrak 7610 69.67 i -
(003) 4 Fi 2% (0202Z2) 4= fh T2 (02) 4 R 7 21 IEEba 421 ] *xrixiniix 0415 82.93 fisi -+
(003) 4= Fil 2 ¢ (0202Z2) 4= fih T2 (02) 4k AU 5 B KREHE 44Q3*rrkxrrkxr)6]Q 80.40 fij -
(003) 4 Fi 2% (0202Z2) 4= fh T2 (02) 4 R 7 21 B 41 Q3xrixiniix] 0] 74.50 fisi -+
(003) 4= Fil 2 ¢ (0202Z2) 4= fih T2 (02) 4k AU 5 B Vi =k:3] 1101 r+*rrierrk50] 8 85.30 fij -
(003) 4 Fi 2% (0202Z2) 4= fh T2 (02) 4 R 7 21 X3 6523 *r*rkkkixx3673 85.37 fisi -+
(003) 4 Fil 2 5% (0202Z2) 4= fh T2 (02) 4 R 7 21 HH B % 42Q8**rkxkxknxD ()26 84.40 fisi -+
(003) 4 Fil 2 5% (0202Z2) 4= fh T2 (02) 4 R 7 21 TRiEY 370E**rkxkakixgD 3D 92.44 fisi -+
(003) 4 Fil 2 5% (0202Z2) 4= fh T2 (02) 4 R 7 21 RE 5QQ3*r*rkrixx (0066 78.50 fisi -+
(003) 4= Fil 2 ¢ (0202Z2) %= fih T % (03) 4=l b Bl % Hi 14Q2x+*xrkxxkxTQBT 87.23 fij -
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(003) 4= Fil 2 ¢ (0202Z2) %= fih T % (04) EcAb &Rl o3 Hr TR 3326**rxxxrkxx (004X 84.57 fij -
(003) 4= Fil 2 ¢ (0202Z2) %= fih T % (04) EcAb &Rl o3 Hr BB, 37Q7*¥rxrxxrkxx(0719 87.60 fij -
(003) 4= Fil 2 ¢ (0202Z2) %= fih T % (04) EcAb &Rl o3 Hr B 5101 ¥+**xkxxxx091] 6 88.97 fij -
(003) 4 fih 7 Pt (0202Z4)f5 & (OL)/™ N\ VH 2 4= BRER 370 ¥xrkxrinrx G464 85.67 fisi+
(003) & 4t (0202Z4) 15 HI& 2 (03) &l A H 4 73 b ZH A1 Q7**rixininr 5023 87.37 fji+
(003) 4 Fil 2 5% (025100) %> fi (01) & EF= 1424 xrkxknkion] DA 81.10 fisi -+
(003) 4 fith 2 ¢ (025100) % it (O1) < fk 2% fEFE 5101 ***rkrkerk 4507 89.87 fifi+:
(003) 4= Filt 2 ¢ (025100) 4l (01) 4= AR LG 51Q5*k**xkkxkk] 92D 87.93 fij -
(003) 4= Filt 2 ¢ (025100) 4l (01) 4= K8 2302 *k*xrikrrk] (0] 0 83.30 fij -
(003) 4= Fil 2 ¢ (025100) 4l (01) 4= T 340 *Frrrriar7 7] 80.64 fij -
(003) 4 fit 2 ¢ (025100) % i (O1) < fk 2% Xl TR B1Q7*r¥*xkkerkG] 24 80.70 fij -
(003) 4 Fil 2 5% (025100) %> fi (01) & Fols:] 21Q2*r¥wkiokink] 924 80.53 fisi -+
(003) 4 Fil 2 5% (025100) %> fi (01) & FES 21 Q] *x¥rkikixx582 79.20 fisi -+
(003) 4= Fil 2 ¢ (025100) 4l (01) 4= A ML 6228 *r¥*xkkxkk3309 86.97 fij -
(003) 4= Fil 2 ¢ (025100) 4l (01) 4= JA A 3308*rr*krrkar570Q 83.00 fij -
(003) 4 fit 27 5% (025100) % i (O1)&:fih 2 OEB A1 Q5 *rrxrkxk 5D () 79.73 fisi -+
(003) 4 fit 2 ¢ (025100) % i (O1) < fk 2% FE 321 2¥xkwkrinxk 443 81.73 fij -
(003) 4= Fil 2 ¢ (025100) 4l (01) 4= 7296 4524 ¥ xrkxxidxkD )06 84.17 fij -
(003) 4= Fil 2 ¢ (025100) 4l (01) 4= ol = 6201 *r¥xrrkark 52 86.00 fij -
(003) 4= Fil 2 ¢ (025100) 4l (01) 4= BN 5325 *kkkkikark())5 90.03 fij -
(003) 4 fit 2 ¢ (025100) % it (O1) < fk 2% T G221 ¥rxxxkkxkk52 DT 85.07 fisi+
(003) 4= Filt 2 ¢ (025100) 4l (01) 4= il 51Q7*+*xxrkxrk0030 81.24 fij -
(003) 4= Filt 2 ¢ (025100) 4l (01) 4= ER 131 rrkrrinrrkgE] Q 85.83 fij -
(003) 4= Fil 2 ¢ (025100) 4l (01) 4=~ REBFE 152 ¥krkirrix 002X 86.27 fij -
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(003) 4= Fil 2 ¢ (025100) 4l (01) 4= ZLE 4] 1 4*rrkxrinrxGAGA 77.00 fij -
(003) 4= Fil 2 ¢ (025100) 4l (01) 4= EigH 3303*rrxkrriar()823 81.47 fij -
(003) 4 Fil 2 5% (025100) %> fi (01) & INERK 211 3¥rxrikinx 8506 78.83 fisi -+
(003) 4= Fil 2 ¢ (025100) 4l (01) 4= =3 3625*rrxkrkkxrd ()48 88.10 fij -
(003) 4= Fil 2 ¢ (025100) 4l (01) 4= S 5137 *kkrkkark 3088 84.30 fij -
(003) 4 fit 2 ¢ (025100) % it (O1) < fk 2% Figk 1423 x+*xrkxxix()028 89.77 fisi+
(003) 4= Filt 2 ¢ (025100) 4l (01) 4= JESCR 4304 *rr¥xrikxr()386 85.93 fij -
(003) 4= Filt 2 ¢ (025100) 4l (01) 4= KIS 131 x+kxrkexrk520) 80.27 fij -
(003) 4= Filt 2 ¢ (025100) 4l (01) 4= e 371 3*rrkxrrixr393() 80.27 fij -
(003) 4 Fil 2 5% (025100) %> fi (01) & FEm 51Q8**+rkrixrk()G75 86.03 fisi -+
(003) 4= Fil 2 ¢ (025100) 4l (01) 4= B o 3702*rrkxrikxx ()28 89.47 fij -
(003) 4 fit 2 ¢ (025100) % i (O1) < fk 2% F i 3425¥xkkxkinrk] 5G4 86.57 fisi+
(003) 4 Fil 2 5% (025100) %> fi (01) & KB 4] 1 3*xrixininx (052D 80.07 fisi -+
(003) 4 Fil 2 5% (025100) %> fi (01) & L2357 A4Q] *rrixiniix()()]2 89.50 fisi -+
(003) 4= Fil 2 ¢ (025100) 4l (01) 4= 2 522 ¥r¥krikakk 5 A6 76.40 fij -
(003) 4 fit 27 5% (025100) % i (O1)&:fih 2 TRk 3702 r+xxwxxinx (0027 84.93 fisi -+
(003) 4= Fil 2 ¢ (025100) 4l (01) 4= JE SR 3 3305*rr*krrkx*30926 86.33 fij -
(003) 4= Fil 2 ¢ (025100) 4l (01) 4= by 41 08*rrrxrikar 756 87.60 fij -
(003) 4= Fil 2 ¢ (025100) 4 it (01)&:fh = B R 5138¥*xkkkrrikG7AT7 86.23 fill 1
(003) 4 fit 27 5% (025100) % i (O1)&:fih 2 W& wF 3303 rHrrkerinr] 784 80.73 fisi -+
(003) 4 fit 27 % (025100) %> Fil (01) &2 fAEAR 6523 *r¥krkark()047 79.13 fifi
(003) 4= Filt 2 ¢ (025100) 4l (01) 4= 530 1202 *xrikxrk 563 84.24 fij -
(003) 4= Filt 2 ¢ (025100) 4l (01) 4= ZRAE 1201 ¥+*xrkxxik3862 88.70 fij -
(003) 4= Fil 2 ¢ (025100) 4l (01) 4= WS 150 *+*rrikrrk] 522 85.50 fij -

WG9 H38H




VR W 2 K5 202 1R HE 7R S A B B ST A L SR B 48 B

RBUE R EHE U F T 9] 4 W55 =705 Vit
(003) 4= Fil 2 ¢ (025100) 4l (01) 4= B35 5101 *r*krkrrk] 5AG 85.03 fij -
(003) 4= Fil 2 ¢ (025100) 4l (01) 4= =R 35Q7*rrkkrkar] 015 85.60 fij -
(003) 4= Fil 2 ¢ (025100) 4l (01) 4= FRE 510G *+**xrxxrk8(015 87.97 fij -
(003) 4= Fil 2 ¢ (025100) 4l (01) 4= RKFH B W 421 Q¥rrxxrrix (002X 85.70 fij -
(003) & Fil % % (025100) 4> fil (01) &2 BrRIpaFT 371 Q¥xrwrkxxx88] X 91.17 fifi+
(003) 4 Fil 2 5% (025100) %> fi (01) & SEEXH 410 *rrixinir 0041 81.00 fisi -+
(003) 4= Filt 2 ¢ (025100) 4l (01) 4= I 1503 *+*rrikrrk] 022 86.67 fij -
(003) 4= Filt 2 ¢ (025100) 4l (01) 4= R 510G *+**rkkrrx 666X 77.40 fij -
(003) 4 Fil 2 5% (025100) %> fi (01) & BB 5101 *x*rkirinxg020 91.63 fisi -+
(003) 4= Fil 2 ¢ (025100) 4l (01) 4= JE R G101 *r**rkkxrk ()52 91.97 fij -
(003) & Fil % % (025100) 4> fil (01) &2 L 5101 *rxriikion] 30 90.43 fifi+
(003) 4= Fil 2 ¢ (025100)4: it (01) &t~ R 5QQ 1 **xrkkxrik3720 89.60 fill 1
(003) 4= Fil 2 ¢ (025100) 4l (01) 4= HiRE 51QG*+**xkkxkk D] | 85.10 fij -
(003) 4= Fil 2 ¢ (025100) 4l (01) 4= A 452 4*xrxxxikxx (0037 83.93 fij -
(003) 4= Fil 2 ¢ (025100) 4l (01) 4= FALE 511 Q*k*krkkrrk G540 90.10 fij -
(003) 4 Fi 2% (025100) %> fi (01) & FHIR 513(*r*rkikixx3207 75.60 fisi -+
(003) 4 fit 2 ¢ (025100) % i (O1) < fk 2% ARIG 0 5111 **rrkrkerk(029 85.17 fifi+:
(003) 4 Fi 2% (025100) %> fi (01) & R B59Q*r*rxkixx ()66 87.47 fisi -+
(003) 4= Fil 2 ¢ (025100) 4l (01) 4= TEFE 2301 Frxwriiakk] 521 78.63 fij -
(003) 4= Fil 2 ¢ (025100) 4l (01) 4= B 310 *rrkeriinr] 613 77.53 fij -
(003) 4= Fil 2 ¢ (025100) 4l (01) 4= REX 5105 ¥+ *xkkxrk(55] 92.23 fij -
(003) 4= Filt 2 ¢ (025100) 4l (01) 4= =) FHe ke 341 2%rrinriiar502] 75.00 fij -
(003) 4= Filt 2 ¢ (025100) 4l (01) 4= RB 3503*rrxkrrkar ()55 85.03 fij -
(003) 4 Fil 2 5% (025100) %> fi (01) & RuE 4] 08**rixiriix()33() 76.87 fisi -+
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VR W 2 K5 202 1R HE 7R S A B B ST A L SR B 48 B

RBUE R EHE U F T 9] 4 W55 =705 Vit
(003) 4= Fil 2 ¢ (025100) 4l (01) 4= o 3625*rrxkrkar()G47 75.67 fij -
(003) 4= Fil 2 ¢ (025100) 4l (01) 4= VT 4203*rr¥xrixk3306 83.07 fij -
(003) 4 Fil 2 5% (025100) %> fi (01) & fh =¥ WS 230 *rxriikinx] 306 72.03 fisi -+
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VR W 2 K5 202 1R HE 7R S A B B ST A L SR B 48 B

RBUE R EHE U F T 9] 4 W55 =705 Vit
(004) L7 & H 24 [ (020205)/=\V. 2 5 2 (O1) gty 5=l K f 3= 2323 ¥rkkxikxrk7Q9DQ 84.30 fij -
(004) L 75 & H 2 Bt (020205) k28 iF 5 (02)/ AL K S IREER| BEEA 511 5**xrkrinxk3944 87.04 fisi -+
(004) L. 7585 B 27 e (020205) =\ 48 i 24 O3) gt A R ot iR | Bhék 3701 ¥+*rrxrkex3()]19 84.18 fisi -+
(004) L. 7585 B 27 e (020205) =\ 48 i 24 O3)/ gt A vt ook | T3 2206 **r*rkxrk)30() 83.92 fisi -+
(004) L. 7585 B 27 e (020205) =\ 48 i 24 (03)7 2 #ml o A b #e ot v | 488 ML 33Q7**rrerier] 219 86.48 fisi -+
(004) T 45 B 2= Bt (0202Z8)ii B & 5%+ (02)F R FATAEGHET A | B 5QQ 1 ***xrwrixx808] 87.64 fifi+
(004) T 45 B 2= Bt (1201Z5) K Hfs & #i (01) KHE 5 A fe g 45QQ**rwrkxrxx350] 83.48 fifi+
(004) T 45 B 2= Bt (1201Z5) K Hfs  #i (01) KRHE 5 A fe XI PR 1307 *+wrkxrerk 5% 85.82 fifi+
(004) T 45 B 2= Bt (1201Z5) K Hfs & #i (01) KHE 5 A fe TPk 510G***xrwrixkg02] 86.34 fji+
(004) T 45 B 2= Bt (1201Z5) K Hfs & #i (02 N T se 5 8dn kol E: g 14Q3*rwxserink] 727 88.58 fji+
(004) T B 2 Bt (1201Z5) K H i # (02) N\ T8 fie 5 H 2 HERIR 5113*rwkarink] 413 81.28 i+
(004) T 45 B 2= Bt (1201Z5) K Hfs & #i (02 N T se 5 8dm kL HEF 4] Q3*rkxinknx 3027 85.74 fji+
(004) T 45 B 2= Bt (1201Z5) K Hfs & #i (02 N T se 5 8dm kL BEAHE B7Q7**rixininxg 4] ] 89.50 fifi+
(004) T 45 B 2= Bt (1201Z5) K # i 3 (03) &Rl R E AL AL, =5 531 *r*erwrixk 3578 83.64 fifi+
(004) T pa 4 P 2 Bt (120202) 4k B (0) £l i s 5 s Ml A X TEA 21 14xxwxnrink] 027 86.70 fisi+
(004) L7 & H 24 5 (120202) 1k & # (O1) Al fi% s 5 e M AR X SR+ 5101 *r**rrkrrk (0020 87.32 fij -
(004) L 75 & 2 2 Bt (120202) 1k & B (OL)Aix Ml ks 5 i b A = 25 PElE 5QQ1***+*rkxrx(026 88.80 fisi+
(004) L7 & H 24 5 (120202) 1k & # (O1) Al fi% s 5 e M AR X BRISAY 5QQ1 *r**rkark 32 ] 86.70 fij -
(004) L. 758 F 27 ¢ (120202) f VB (OL) i Ml 55 s 5 7 sl A =X K1IE 3623 rkrskrinx 4803 87.38 fisi -+
(004) L 75 & 2 2 Bt (120202) 1k & B (OL)Aix Ml ki 5 A b A = FRIA 1101 *xrkerkerx 62X 87.72 fisi+
(004) T pa 4% P 2 Bt (120202) AV 5 (0) £l i s 5 s Ml A Vrnzs 140 *r¥xrernxk3749 85.84 fji+
(004) L. 7585 B 27 e (120202) f VB (OL) i Ml 55 s 5 7 sl A =X FHER 51Q7**xkwxinrk (0] 3 84.42 fisi -+
(004) T pa 4% P 2 Bt (120202) AV 5 (0) £l i s 5 s Ml A iR 140 ¥r¥xrerixk(227 80.84 fji+
(004) L. 7585 F 27 e (120202) f VB (02)HLUT N G E AR L:E 43 BAQ L *Hrwxixxx3] D7 85.10 fisi -+
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VR W 2 K5 202 1R HE 7R S A B B ST A L SR B 48 B

RBUE R EHE U F T 9] 4 W55 =705 Vit
(004) L. 7585 F 2 e (120202) /i V B (02)HLUT N G E AR FehGE 510G **+*rxrk) 866 86.52 fisi -+
(004) L7 5 24 B (120202) 4k B (AL T N EE A K 513(*r*rikinx 4487 84.40 fisi -+
(004) T 5 & B 2= (120202) 1Mk 2 (03) ZE AT 5 4 =] LA RER 2301 *rrririr57AQ 86.80 fil+
(004) T 45 B 2= Bt (120202) ik 5 22 (04)iz 1k Juf5 B its 5QQ1 *r¥riikinxg] 20 81.56 fifi+
(004) T 7 & B2 2= B (120203)ik i i BE (03) i iiE v T HAT A5 E W AH TKAT AR 5101 **rsxsaiax())29 87.72 fifi -
(004) T i & B 2% Pt (120203)i Il B (O3)JiliE i P & AT N S E B AW JA a8 3501 **rrrrkex 302 85.96 fisi -+
(004) T 7 & B2 2= B (120203)ik i i PE (03) i iiE v T HAT A5 E W AH B 411 Qrrwrrrinin] 520 86.14 fifi -
(004) T i & B 2% Pt (120203)i JiiE i B (O3)JiliE i P & AT N S E B AW BE 513Q***krxrk 4000 87.74 fisi -+
(004) T 7 & B 2= B (120203)ik i i PE (03) i iiE v T HAT A5 E W AH EYl 513Q**rktkeinn] GAQ 86.62 fifi -
(004) T i & B 2% Pt (120203)i i B (O3)JiliE i P B AT N S E BB F 7k #k 3708 r*xrkwkinr 34X 83.58 fisi -+
(004) T 7 & B 2= B (120222) \ 7y B 3 (01) 52 TAT R EHLUTH =TH 51Q7**xsxininn] 447 90.98 fisi +-
(004) T 45 B 2= Bt (1202Z2) \ ) B 2 OV A TAT NEHLIT N HAEA 522 *x¥tkikixx (0026 90.32 fji+
(004) T 45 B 2= Bt (1202Z2) \ ) B 2 OV A TAT NEHLIT N BB 522 *r¥kkiokiak 79D 81.37 fifi+
(004) T 7 & B 2= B (120222) \ 7y B 3 (01) 52 TAT R EHLUTH A Fil 511 5r*xsxninx (0023 89.43 fisi +-
(004) T 45 B 2= Bt (1202Z2) \ ) B 2 OV A TAT NEHLIT N =) 320 *rwkirinr] 51 X 90.16 fji+
(004) T 7 & B 2= B (120222) \ 7y B 3 (01) 52 TAT R EHLUTH g 41 Q1 *rwriririx (0060 87.60 i+
(004) T 45 B 2= Bt (1202Z2) \ ) B 2 OV A TAT NEHLIT N FESE 5L 211 3#rwxrwrixk242() 86.14 fji+
(004) T 45 B 2= Bt (1202Z2) \ ) B 2 (02) G35 H7 I A 21 s 533(*r*ewriak5] D] 82.58 fifi+
(004) T i & B 2% Pt (1202Z5) T4 '8 i 2l (O1) <k il 55 5 41 Eif 3701 r+*rrxrR*4420) 91.78 fisi -+
(004) T i & B 2% Pt (1202Z5) T4 '8 i 2l (03)¥ & 4T Jt 7 X PR 3607 *rrxrker (0820 83.88 fisi -+
(004) T i & B 2% Pt (1202Z5) T4y '8 i 2 (03)¥ & 4T Jt 7 pAIES: 511 Q**xkkeinxx()324 85.98 fisi -+
(004) T_ 7 & 2B (1202Z5) T4y 8 i Bl (03)¥H T & AT NI H & 51Q5***kxkxknx ()71 86.66 fifi -
(004) T i & B 2% Pt (1202Z5) T4y 8 i Bl (03)¥ & 4T Jt 7 Z= BB 3BQ7* *rxrRek] 427 80.54 fisi -+
(004) T 5 & B 2% Pt (1202Z5) T4y 8 i Bl (03)¥ & 4T Jt 5 A E 3605+ *rxrke+()()22 83.36 fisi -+
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VR W 2 K5 202 1R HE 7R S A B B ST A L SR B 48 B

RBUE R EHE U F T 9] 4 W55 =705 Vit
(004) T 5 & B 22 Pt (1202Z5) T4 8 i 2l (O5)E B TR Kl 5 i AL B P 1309**r¥xrieik52 00 91.54 fisi -+
(004) T i & B 2% Pt (1202Z5) T4 '8 i Bl (O5)E B SR Kl 5 i AL B 7 B A3Q7r*rRxRRRFOGIXN 83.01 fisi -+
(004) T 7 & B2 2= B (1202Z5) i b7y & 9 (05)E A5 AR 5 i Rt A 2 BRI 210Qr*xsxxixx3(0)] 4 86.72 fifi -
(004) T i & B 2% Pt (1202Z5) T4y 8 i Bl (O5)E B SR Kl 5 i AL B BvkE 142G**r¥xrkeik] 349 80.20 fisi -+
(004) T 7 & B2 2= B (1202Z5) i b7y & 9 (05)E A5 AR 5 i Rt A 2 FIERE 5201 r*r*ririrk]] 26 80.14 i+
(004) T 7 & B2 2= B (1202Z9) Wi 5 4k o e 4 (01) ek im 48 i B B2EW 1302 *xkxkxixx()029 83.34 fifi -
(004) T 7 & B2 2= B (1202Z9) Wi 5 4k o e 4 (03)R W 5 it 7 % A B X1 3T Jik 6229 r*xxxkxkxk()8DD 94.74 | HIEA
(004) T 45 B 2= Bt (1202Z9) i 5 ik 7 e A 3 (03) it 4k 4 ik AR AT 52Q ] *r¥tkiokinr] GIX 91.68 fifi+
(004) T 45 B 2= Bt (1202Z9) i 5k 7 e A 3 (03) it 4t 4 ik X R 4 511 5¥rktiikionx] GAG 86.42 fifi+
(004) T 45 B 2= Bt (1202Z9) i 5k 7 e A 3 (03) it 4t 4 ik EH 421 Q¥ *rixiniix ()543 86.76 fji+
(004) T 45 B 2= Bt (1202Z9) i 5k 7 e A 3 (04) R0y 15 44k 7 % 7 14 =% BAQ2*r¥xkkixk] 528 83.40 fifi+
(004) T 7 & B 2= B (1202Z9) Wi 5 4k o e 4 (05) k87 Z5 48 73 Bt R E R 5134r*rxrinink] 510 86.62 i+
(004) T 45 B 2= Bt (1202Z9) i 5k 7 e A 3 (O5) fit S5 £ 4 43 by 2R 350 *xrkrkarnx()] 77 92.28 fji+

w14 387




VR W 2 K5 202 1R HE 7R S A B B ST A L SR B 48 B

RBUE R EHE U F T 9] 4 W55 =705 Vit
(005) [ b i 2Bt (020206) [F Fr 57 5 2 (O1) [ s 57 & B2 5 U 3R L] 3406**rxxxrxxx3207 79.44 fi
(005) [ b i 2Bt (020206) [F Fr 57 5 2 (01) [E i 57 & B 5 EUR XK 35Q7*¥rxxrrkxxn]2Q 80.88 fi
(005) [F b i 2Bt (020206) [F Fr 57 5 2 (O1) [ Fs 57 & B2 5 B 3R X B1Q7*k*xxkkxrk] 203 79.64 fi
(005) [F b i 2Bt (020206) [F Fr 57 5 2 (01) [E i 57 & B 5 EUR EEA 3729*rrkkrikax ()29 85.74 fi
(005) [ Frx i 2 ¢ (020206) [l 557 5 (O1) [ Fs 57 &y B2 5 U 3R i e 13Q7*xrkerkxrk 39X 87.18 fisi -+
(005) [ i i 2% b (020206) [E 552 5 (02)H F 57 5y &5 4= fil BREH 4101 r+xxxxixx (0029 84.02 fisi -+
(005) [F b i 2Bt (020206) [F Fr 57 5 2 (02)H F 57 5y &5 4= fil R 41 27 *¥rxxxxxxD D 3() 79.66 fij -
(005) [ [ i 2% b (020206) [E 552 5 (02)H F 57 5y &5 4= fil BR% 2106 *rrxxixxxGE2() 82.46 fisi -+
(005) [ [ i 2% b (020206) [E 552 5 (02)H F 57 5y &5 4= fil FiB& 5111 **ekkrrrx(324 88.70 fisi -+
(005) [ b i 2Bt (020206) [F Fr 54 5 2% (02)H F 57 5y &5 4= fil U4 441 Q¥xrrxxinxx (088D 82.96 fij -
(005) [ [ i 2% (020206) [E 552 5 (02)H F 57 5y &5 4= fil pAIISEiS 5101 ***rxrkxrk(0906 81.04 fisi -+
(005) [ [ i 2% (020206) [E 552 5 (02)H F 57 5y &5 4= fil VEE 511 3**rrkrkerk8] 8Q 83.68 fisi -+
(005) [ b i 2Bt (020206) [F Fr 57 5 2 (02)H F 57 5y &5 4= fil Bz 3708*xrxxxrkxx3207 83.68 fij -
(005) [ [ i 2% (020206) [E 552 5 (02)H F 57 5y &5 4= fil X Bk 431 Qr+*rrxrir (0816 85.02 fisi -+
(005) [ b i 2Bt (020206) [F Fr 57 5 2 (03) [ Fs i 45 T/ EH 3502%*kxxrikxr 7536 83.14 fij -
(005) [ bR 2B (025400) = F 75 45 (01)H E A =] E PRk TR 51Q1*rekerixx(028 73.80 fifi+
(005) [ Frx i 2 ¢ (025400) [l b7 %% (02) H bréh 55 5 [H br< fb i 21 e 2102r*xrkxixxx(0024 80.64 i
(005) [ Frx i 2 ¢ (025400) [l br i %% (02) [ bréh 55 5 [H br< fab 7 21 FEM 210 FHrmkrrrk342% 79.70 i
(005) [ Frx i 2 ¢ (025400) [l b7 %% (02) H bRt 55 5 [H br< fab i 21 Ty 4101 rxrkxrkxxG5D A 73.00 i
(005) [ Fr i 2 ¢ (025400) [l b7 %% (02) H bRt 55 5 [H br< fab i 21 =3 A1 27**xkxkkxk D51 Q 73.88 i
(005) [ i i 2% b (025400) [ Fr i 4% (03) [ Fs N 7 5 5 2 W 4101 ¥+*rxrkxxGED(0) 73.12 fisi -+
(005) [ [ i 2% b (025400) [ Fr i 45 (03) [ Fs N 7 5 5 2 BUOCE 41Q3rr*rrxrier (0523 73.56 fisi -+
(005) [ bR 2B (025400) [ 7 75 45 (03) bR A 7y 5 7 g 51Q1*rxekerink] 566 81.60 fisi -+
(005) [ i i 2% b (025400) [ Fr i 4% (04)—iF—i 5 HH ™R &l X T 510 **rkrixxx252() 82.62 fisi -+
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VR W 2 K5 202 1R HE 7R S A B B ST A L SR B 48 B

RBUE R EHE U F T 9] 4 W55 =705 Vit
(005) [ [ 7 2% b (025400) [ Fr i 4% (04)—iF—i 5 HH ™A &l X FEE 210 ¥*rkrinxk 723 80.48 fisi -+
(005) [ i i 2% b (025400) [ Fr i 4% (04)—iF—i 5 HH ™R &l X IR 5222k xikxinxx 487 ) 74.08 fisi -+
(005) [ i i 2% b (025400) [ Fr i 4% (04)—iF—i 5 HH ™R &l X ZEBE 5138*xikxinxx] 2Q 82.44 fisi -+
(005) [ i i 2% b (025400) [ Fr i 4% (04)—iF—i 5 HH ™R &l X Epaai 3601 rxrsxrinx(00] ] 76.28 fisi -+
(005) [ i i 2% b (025400) [ Fr i 4% (04)—iF—i 5 HH ™R &l X 2= i 511 3**rkrinrx()] 61 84.60 fisi -+
(005) [l b i 2= B (120271) [ b7 55 (OB EAFLE 58 Z= 1 a3k 53Q 1 *r¥rkikixx(020 87.60 | EH4
(005) [F b i 2Bt (1202Z1)H Brr 5% (02) 5 [E /3 =] ik i 7 2 X 231 Qxrxxxkxrk (020 76.24 fi
(005) [ [ i 2% b (1202Z1) ¥ B 45 (03) % [E 4 il 5 04 55 #R % 2106 **+*rkxrx(460 77.16 fisi -+
(005) [ bR 2B (1202Z71) [H PR 45 (03) 5 5 <= ik 5 14 5% R 411 4xxrxxrxir 7800 78.64 fji+
(005) [ [ i 2% (1202Z1) 1E B 4% (03) % [E 4 il 5 04 55 TRAEHE 51Q**rrkrirkg 23X 82.62 fisi -+
(005) [ bR 2B (120221) [F B 55 (04)H E A =] EBrik )= 23(2*r*rkkkixx (0426 82.52 fifi+
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VR W 2 K5 202 1R HE 7R S A B B ST A L SR B 48 B

RBUE R EHE U F T 9] 4 W55 =705 Vit
(006) %5 i1 5% (020208)4tit2% (1) ZEMA T4t B 513*xwwrkrkar DX 86.28 fifi+
(006) %t 11275t (020208)4: it-2# (02)&:mh 4 it WisiE 510 **xkkkrrik] D5 86.85 fill 1
(006) 4t it P (020208)%t it~ (02) &4t it B 4102 wrsrkRxk()522 82.20 fiii—+
(006) 45 i1 (020208)4t it~ (R B8R 511 Q*r*rkarixx831 0 83.07 fifi+
(006) 5t 11275t (020208)4: it-2# (02)&:mh 4 it ARAFEIH 4] 1 43**xxiknxkQB] ] 83.60 fill 1
(006) 45 i1 (020208)4t it~ (RN BB TR 53Q 1 *r¥rkikixx 2640 82.13 fifi+
(006) 4t it 2:Bx (020208)4t it~ (03) i 54t it bR 3408 *rwrwririx())2] 81.93 fifi -
(006) 4t it 2:Bx (020208)4t it~ (03) i 54t it Mk 511 **rsxieinn] 929 84.60 fifi -
(006)4t it 2P (020209) % & 42 5 47 (01) &Rl E & 77 i |z 358 21QQ¥*rikxinxx())27 84.00 fisi -+
(006)4t it 2P (020209) % & 42 5 47 (O1) < b B3 & 437 HEE 3206 *xwxrknx] D5 85.55 fisi -+
(006) &t it (020209) & £ it (02)ih&=ZA T it 5 N H FrRERE 34Q8r**xrxrinx 629 82.60 fisi -+
(006)4t it 2P (020209) % & 42 5 47 (02)iH =& B 5 M H 20 530 **rkrinxx 328 89.05 fisi -+
(006) 5t 11275t (020238) 2 5 K EHE 734 (0O) AN X 3 Wt 95 77 171 XH 5101 ¥rxxkkxrk0)2X 86.65 fij -
(0068)4t 2% bt (0202J8) 4 i K Eds 4 M (0O) AN X 73 Wt 9 77 171 BtE= 1304*xrkerixrc ) G64 85.10 fisi -+
(0068)4t 2% bt (0202J8) 4 i K Eds 4 M (0O) AN X 73 Wt 9 77 171 AR 510 **xkrkerk()] 2 91.80 fisi -+
(006) 5t 11275t (020238) 2 5 K EHE 734 (0O) AN X 73 Wt 9 77 171 ] B1Q7*kxxxkkxsk] 60 86.20 fij -
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